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1. Find vertical asymptotesof y=——.
ymp Y= x—27 3

2—3x
x> +1

2. Find horizontal asymptotes of y =

x3+1
2

3. Find the Oblique Asymptote (RH#iEHE) of y = TR

X2+ X+2

4. Find all asymptotes of y= 3 ¢
—X

X+2
1-x* x—2
g +22° =42 +2 are z~—3.0861, x~ —0.42801, and =z~ 1.5141 ,

which you may learn in Newton method (section 8) or, alternatively, use
[.V.T repeatedly as in previous exercise.]

5. Find all asymptotes of y= . [Note. The solutions of

5x% —sin X

6. Find all asymptotes of y= 2

KT 7~9 & ARREHE RFERFRWBER - HEHEE EREEEHTINR

7. I lim ax—l—b+\/x2+3x}:0,find ab.

X—00

8. If lim 13/x(x—62—(ax+b)]:0,ﬁnd ab.

X—00

2

9. 1f lim|X T2
X—00 X+l

—ax—>b

—0,find ab.

10. Let y=ax+b be an asymptotes of the Folium of Descartes

3 3_%

X°+y _2xy.Find a,b.


https://www.youtube.com/playlist?list=PLKJhYfqCgNXjkwxSf-xDV47b9ZXDUkYiN
https://www.youtube.com/watch?v=vqoc59G-gRI&list=PLKJhYfqCgNXjkwxSf-xDV47b9ZXDUkYiN&index=20

